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Question Paper Code : 42916

B.E/B.Tech. DEGREE EXAMINATION, NOVEMBER/DECEMBER 2010.
Annual Pattern — First Year
Aeronautical Engineering
GE1X01 — ENGINEERING GRAPHICS
(Common to all Branches)
(Regulation 2004)
Time : Three hours Maximum : 100 marks
Answer ALL questions in A3 size drawing sheet book provided.
Use appropriate scale if necessary, 10 fit the solution with in A3 size.

Answer ALL questions.
(5 % 20 = 100)

1. @ @ Construct a cycloid having a rolling (Generating) circle diameter as
50 mm. Draw a normal and tangent to the curve at a point 35 mm
above the base line. 10)

(i) Draw the involute of a hexagon of side 25 mm. (10)
Or

() Draw the free hand front, top and right side view of the object shown in
the Fig.1. ’
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The length of the top view of a line is 40 mm and the length of the front
view is 50 mm. The top view is inclined at 30° to xy. Draw the projections
of the line, assuming that its one end is situated on H.P and 25 mm in
front of V.P. Determine the true length and inclinations of the line with
H.P and V.P. Also locate its traces.

Or

Draw the projections of a regular pentagon of 40 mm side, having its
surface inclined at 30° to V.P. and the side on which it rests on
V.P. makes an angle of 60° with H.P.

A pentagonal pyramid, with side of base 30 mm and height 75 mm, has
one of its triangular faces perpendicular to H.P and inclined at 45° to
V.P. Draw the projections of the solid, when the base side of the
triangular face is on H.P.

Or -

A square-headed bolt 25 mm diameter, 125 mm long and having a square
neck has its axis parallel to the ground and inclined at 45° to the V.P. All
the faces of the square head are equally inclined to the ground. Draw its
projections by auxiliary projection method, neglecting the threads and
chamfer.

A hexagonal pyramid, with side of base 30 mm and axis 65 mm long, is
resting on ita base on H.P. with two edges parallel to V.P. It is cut by a
section plane, inclined at 45 ° to H.P and passing through a point on the
axis at 25 mm above the base. Draw the projection of the sectioned solid
and true shape of the section.

Or

Draw the development of a cylinder of 50 mm diameter and 756 mm
height, containing a square hole of 25 mm side. The sides of the hole are
equally inclined to the base and the axis of the hole bisects the axis of the
cylinder.

A hexagonal pyramid of base side 35 mm and height 65 mm rests on its
base on the HP with two of its base edges perpendicular to the VP. It is
cut by a plane perpendicular to the VP and inclined at 35° to the
HP meeting the axis at a point 35 mm above the base of the pyramid.

Draw the isometric view of the truncated pyramid.
Or

Draw the perspective view of a pentagonal prism of base side 30 mm and
length 100 mm which lies on the ground plane on one of its rectangular
faces with the axis inclined at 30° to the PP and a corner of the base
touching the PP. The station point is 70 mm in front of the PP and lies in
& central plane that bisects the axis. The horizon is 40 mm above the
ground.





